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23 Problem list: Function spaces and number systems

23.1 Properties of R

1. (R>g is an ordered commutative monoid with mutliplication)

(a) Show that if x,y,2 € R>g and v <y then v + 2z <y + 2.
(b) Show that if z,y € R>p then zy € R>g

2. (Continuity of the operations in R>g) Let X = R with metric given by d(z,y) = |z —y|. Show
that the functions

Rzo X Rzo — Rzo Rzo — Rzo . .
and are uniformly continuous
(x,y) = x4y xr = —x
and the function

REOXREO — Rzo
(r,y) = Y

is continuous but not uniformly continuous.

3. (numbers gone missing)

(a) Show that v/2 & Qxo.
(b) Show that 7 Q/ on.
c¢) Show that e & Q>¢.
)
)

(
(d) Show that /-1 & Q.
(e) Show that v/—1 ¢ R.

4. (The topology on Q>g) Show that Q¢ is not discrete and that Q>¢ is Hausdorff. Show that
Q>0 is not a complete uniform space.

5. (The uniformity on Q)

(a) Show that Q¢ is not a complete uniform space.
(b) Show that |z|, T = sup(x,0) and = = sup(—=x,0) are uniformly continuous on Q.
(c¢) Show that sup(z,y) and inf(x,y) are uniformly continuous on Q x Q.

6. (R>¢ is complete) Show that R>( is a complete metric space.

7. (Intervals in R>q) Let a,b € R>¢ with a < b.

(a) Show that [a, b] is closed in Rx>g.
(b) Show that (a,b) is open in R>g.

8. (Using intervals to determine the topology on R)
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10.

11.

12.

13.

14.

15.

16.

17.

18.

(a) Show that if U CRand 0 € U and U is open then U contains a subset in {[—r,7] | 7 € Qx0}.
(b) Show that if x € R and U C R and x € U and U is open then U contains a subset in

{lt =ryx+7r] | reQso}.

(Rationals between reals) Let a,b € R>g with a < b.

(a) Show that there exists a rational number r € Q>o with a < r < b.
(b) Show that there exists an irrational number r € Q< with a < r <b.

(The Archimedean axiom holds) If z,y € R~ then there exists n € Z~( such that y < nz.

(increasing bounded sequences converge) Let (aj,as,...) be a sequence in R such that a; <
as < --- and there exists b € R such that if i € Z-y then a; < b. Show that lim a, exists,

n—0o0
sup{ai, ag, ...} exists and

lim a, =sup{ai,as,...}.
n—o0

(The Heine-Borel or Borel-Lebesgue theorem) Let A C R. Show that A is compact if and only
if A is closed and bounded.

(R is locally compact) Show that R is locally compact and not compact.

(R>¢ is locally compact) Show that R>q is locally compact and that the one-point compacti-
fication R>p U {oo} is compact. Conclude that every sequence in R>o has a cluster point in
RZO U {OO}

(The least upper bound property) Let A C R with A # () and A bounded above. Then sup(A)
exists.

(connected subsets of R are intervals) Let A C R. Show that A is connected if and only if A is
an interval.

(continuous injective functions are strictly monotonic) Let I be an interval in R>q and let
f: 1 — R>g be a continuous function.

(a) Show that f is injective if and only if f is strictly monotonic.
(b) Show that if f is injective then f: I — f(I) is a homeomorphism.

(2" is a homeomorphism) Show that the function z™: R>9 — R>¢ is a homeomorphism. (See

Boul Top. Ch. IV §3 no. 3)).
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23.2 Axioms for R, and Dedekind cuts

1. (Ordered sets with addition and Archimedes’ property) This is from [Bou, Ch. V §2]. Let E be
a totally ordered set with order < and smallest element 0. Let

IxI — FE

ICFE with a function
(z,y) — x+y

such that

(1) 0 €I,
(I2) freland y € E and y < z then y € I,

and

(GRy) If x € [ then z +0 =0+ z = x,
(GR)) If z,y,z € [ then z + (y + 2) = (x + y) + 2,
(GRyy) f z,y,z€ lTand x <y thenz+z<y+zand z+z < z+vy,
(GRH] {yel|y>0}#0and {yeI|y>0}and has no smallest element,
(GR);;) If x,y € I and = < y then there exists z € I such that z > 0 and z + z < y,
(GRIV) (“Archimedes’ axiom”) If z,y € I and & > 0 then there exists n € Z~¢ such that nz € E
and nx > y.

Show that there exists a strictly increasing function f: I — R>¢ such that
ifz,yelandz+y el then f(z+y)=f(x)+ f(y).

Moreover, if b € I then f(I) N[0, f(b)] is dense in [0, f(b)].

Proof seed: Let F the filter on I for which the sets {[0, 2] | z € I,z > 0} form a base. Let a € I
with @ > 0 and define

f(z) = lim H where LEJ = max{n € Z>o | nz <z},

and lim,_,¢ is the limit with respect to the filter F on I.

2. (Replacing Archimedes’ property with the least upper bound property) Let E be a totally ordered
set with order < and smallest element 0. Let

IxI — FE

ICE with a function
(z,y) — x+y
such that

(1) 0 €I,
(I2) f el and y € E and y < z then y € I,

and

(GRy) If z € I thenz+0=0+2z =z,
(GR’I) Ifz,y,z€Ithenx+ (y+2) = (x+y) + 2,
(GRyy) f z,y,z€ land x <y thenz+z<y+zand z+z < z+vy,
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Assume

(GRyr1a) {y€I|y>0}#0and {y €I]|y>0} and has no smallest element,
(GRY/10) If 2,y € I and z < y then there exists z € I such that z + z = v,

(GRrva) Every increasing sequence of elements of I which is bounded above by an element of I has
a least upper bound in I.

Then

(GRv) (“Archimedes’ axiom”) If 2,y € I and « > 0 then there exists n € Zg such that nz € E
and nx > y;

holds. (See [Bou, Top. Ch. V §2].)

3. (Building the correspondence to R>p) This is from [Bou, Ch. V §2]. Let E be a totally ordered
set with order < and smallest element 0. Let

IxI — FE

ICE with a function
(,y) — z+y

such that

(1) 0 €I,
(I12) fx € I and y < x then y € I,

and

(GR)) If z,y,z € [ then z + (y+ 2) = (x + y) + 2,
(GRyy) If z,y,z€lTand v <y thenz+ 2 <y+zand 2+ 2z < 2z +y,

Assume

(GRyrre) {y€el|y>0}#0and {y € I |y >0} and has no smallest element,
(GRY/1.) If 2,y € I and z < y then there exists z € I such that z + z =y,

(GRrva) Every increasing sequence of elements of I which is bounded above by an element of I has
a least upper bound in I.

Show that there exists z € R>o U {00} and a strictly increasing surjective function f: I — [0, 2)
or f: I — [0, z] such that f(0) =0 and

ifer,yelandz+y el then f(z+y)=f(x)+ f(y).

4. (Dedekind cuts) A cut is a subset z of Qs such that

(a) = # 0 and z # Qxo,
(b) (lower ideal) If p € x and ¢ € Q<o and g < p then ¢ € z,
(¢) (no maximal element) If p € x then there exists r € x with p <.
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Define a totally ordered set
R = {cuts in Q>o}, with z<y if zCuy.
Define an addition on R+ by
x+y={r+s|rezandscy},
and define a multiplication on R+ by
zy = {p € Q>0 | there exists r € x and s € y with p < rs}.

Finally, define
t: Qso — Ry by ur)={p € Qo | p<r}

Show that

(1) ¢ is injective,

(2) R has no smallest element,

(3) If z,y,z € Ryg then (z 4+ y) + 2z =z + (y + 2),

(4) fx,y,z€ Rsgand z <y then z + 2z <y + 2,

(5) If z,y € Ryg and x < y then there exists z € Ry such that z + z = y,

(6) If E CRsg and E # () and E is bounded then sup(E) exists.

(see |BRu, Ch. 1 Appendix]).

23.3 The mean value theorem

1. (continuous images of connected sets are connected and continuous images of compact sets are
compact) Let (X,7) be a topological space and let E C X. The set E is connected if there do
not exist open sets A and B in X (A, B € T) with

ANE#() and BNE#( and AUB2FE and (ANB)NE=1.
The set E is compact if F satisfies

ifSCT and F C < U U) then there exists

UeS
l € Z~gand Uy,Us,..., Uy € S such that E C U, UU;U---UUj.

Let f: X — Y be a continuous function and let £ C X. Show that

(a) If E is connected then f(F) is connected,
(b) If E is compact then f(E) is compact.

2. (connected subsets of R are intervals) Let A C R, where the metric on R is given by d(x,y) =
|z — y|. Show that
A is connected if and only if A is an interval,

i.e. A is connected if and only if there exist a,b € RU{oo, —oco} such that A = (a,b) or A = [a,b)
or A= (a,b] or A =la,b].
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3. (connected compact subsets of R are closed bounded intervals) Let A C R, where the metric on
R is given by d(z,y) = | — y|. Show that

A is connected and compact if and only if A is a closed bounded interval,

i.e. A is connected and compact if and only if there exist a,b € R such that A = [a, b].

4. (f: [a,b] — R have minimums and maximums and intermediate values) Let a,b € R with a < b.

(a) Show that if f: [a,b] — R is a continuous function and w € (f(a), f(b)) then there exists
¢ € (a,b) such that f(c) = w.

(b) Show that if f: [a,b] — R is a continuous function then there exist m, M € R such that
f([a,b]) = [m, M].

f(b)

f(a)

The intermediate value theorem.

5. (Rolle’s theorem) Let a,b € R with a < b. Show that if f: [a,b] — R is a function such that
f: [a,b] — R is continuous and f’: (a,b) — R exists

and f(a) = f(b) then there exists ¢ € (a,b) such that  f'(¢) = 0.

6. (The mean value theorem) Let a,b € R with a < b. Show that if f: [a,b] — R is a function such
that f: [a,b] — R is continuous and f’: (a,b) — R exists then there exists ¢ € (a,b) such that

f) = f(a) + f'(c)(b— a).

7. (Taylor’s theorem) Let a,b € R with a < band N € Z>¢. Show that if f: [a,b] — R is a function
such that fV): [a,b] — R is continuous and fN*+1: (a,b) — R exists then there exists ¢ € (a, b)
such that

£(0) = f(a) + F(@)(b— a) + 5 " (@)(b—a)? + -+

1 !f(N+l)(C)(b—a)N+l.

1
+ ﬁf(N)(CL)(b — G,)N + m
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f(@) = f(b)

Rolle’s theorem

f(O)—f(a)

flle) = =5= 7
/ /

The mean value theorem

23.4 Properties of Q,
1. (reducing to primes p) (See Ch. 5].)

(a) Let p € Z~1 be prime and let r € Z~(. Show that Q,r = Q).
(b) Let ¢,m € Zsq with ged(¢,m) = 1. Show that Qp, = Qp & Qpy,.
(c) Let £ € Zso and let £ = pi'ph?---p;* be the prime factorization of ¢. Show that Q, =

Qpl @Qm@"'@QPk'

2. (Qp is a field if p is prime) Let p € Z~; be prime. Show that Q,, is a field if and only if p is
prime.

23.5 Triangle inequalities
1. (Cauchy-Schwarz and triangle inequalities in R™) Let z,y € R™. Prove the following:

n
(a) (Lagrange’s identity) |z|? - [y|? — (z,y)* = i Z (ziyj — zy:)*.
ij=1
(b) (Cauchy-Schwarz inequality) (z,y) < |z| - |y|.
(c) (triangle inequality) |z + y| < |z| + |y|.
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2. (Cauchy-Schwarz and triangle inequalities in inner product spaces) Let (V,(,)) be a positive
definite inner product space.

(a) (Cauchy-Schwarz inequality) Show that if z,y € V then |[(x,y)| < ||z]| - ||ly]|-
(b) (triangle inequality) Showthat if z,y € V then ||z + y|| < ||z|| + [|y]|-

3. (Holder and Minkowski inequalities) Let ¢ € R>1 and let p € R-; U {oo} be given by % + % =1.

) (Young’s inequality) Show that if a,b € R then a% b% < %a + 1.
) (Holder inequality for R™) Show that if =,y € R™ then |(x,y)| < T|x||pHy||q
¢) (Minkowski inequality for R™) Show that if z,y € R™ then ||z + y|l, < |lz]l, + [|yllp-
) (Holder inequality) Show that if € Z and y € £9 then |(z,y)| < ||z||p/|y]lq-
) (Minkowski inequality) Show that if € /7 and y € ¢4 then ||z + y|[, < ||z, + [lyllp-

23.6 The spaces (P

1. (Containment of ¢P-spaces) [Bressan, Ch. 2 Ex. 14] Let p,s € R>;. Show that if p < s then
P C 5.

2. (¢P-spaces depend on p) [Bressan, Ch. 2 Ex. 14] Let p, s € R~1. Show that if p # s then P # (%,

3. (the dual of R? in the || ||, norm) [Bressan, Ch. 2 Ex. 21] Let ¢: R? — R be a linear functional,
say ¢(x1,x9) = axy + bxe. Give a direct proof that

(a) If R? is endowed with the norm ||z||; = |z1| + |z2| then the corresponding operator norm is

6]l = max{[al, |b]}.
(b) If R? is endowed with the norm ||z« = max{|z1]|,|x2|} then the corresponding operator
norm is ||¢[|1 = |a| + |b].
(b) If p € R~y and R? is endowed with the norm ||z||

» = (Jx1|P+|x2|P)'/? then the corresponding
operator norm is |||, = (la|? + [b|7)}/9, where % +

=1
q

4. (Dual of an ¢P-space) Let p € R;. Show that (¢P)* = ¢ where % + % = 1.
5. (Dual of cg) Show that (cg)* = ¢!. (See Rudin, Real and complex analysis, Ch. 5 Ex. 9)
6. (Dual of £') Show that (¢!)* = £>°. (See Rudin, Real and complex analysis, Ch. 5 Ex. 9)

7. (Dual of ¢°°) [Bressan, Ch. 2 Ex. 27] Show that (¢/°)* # ¢!. (See Rudin, Real and complex
analysis, Ch. 5 Ex. 9)

8. (P is complete) Let p € R-1. Show that (P is a complete metric space.
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10.

11.

12.

13.

14.

15.

16.

17.

. (¢! is complete) Show that ¢! is a complete metric space.

(£ is complete) Show that £°° is a complete metric space.

(co is complete) Show that ¢y is the completion of
ce = {(z1,x2,...) € £°° all but a finite number of x; are 0}

the space of sequences that are eventually 0. (IS THE esssup NORM AND THE SUP NORM
THE SAME FOR COUNTING MEASURE? SEE Theorem 1.3 on the page http://www.ms.unimelb.edu..

(The completion of ¢, with respect to || ||,) Let p € R-q. Show that (7 is the completion of

ce = {(x1,29,...) € {7 all but a finite number of z; are 0}

the space of sequences that are eventually 0.

(the closure of the span of the standard basis in /7) [Bressan, Ch. 2 Ex. 15] Let
e1 = (1,0,0,0,0,...), es=(0,1,0,0,0,...), e3=(0,0,1,0,0,...), ...,

and

let p € Roq. Show that, in ¢P, span{ej,eg,...} = (P

(the closure of the span of the standard basis in ¢!) [Bressan, Ch. 2 Ex. 15] Let
er = (1,0,0,0,0,...), ez =(0,1,0,0,0,...), e3=(0,0,1,0,0,...),
Show that,

in /1, span{ey, ey, ...} = (1.

(the closure of the span of the standard basis in £°°) [Bressan, Ch. 2 Ex. 15] Let
e1 = (1,0,0,0,0,...), es=(0,1,0,0,0,...), e3=(0,0,1,0,0,...),
Show that,

in £°°, span{ej,ea,...} = co.

(weak convergence of of the standard basis in /P) [Bressan, Ch. 2 Ex. 36] Let
e1 = (1,0,0,0,0,...), es=(0,1,0,0,0,...), e3=(0,0,1,0,0,...), ...,
and let p € R-1. Show that

in /P, the sequence (eq,e9, €3, ...) weakly converges weakly to 0.

(weak convergence of of the standard basis in /P) [Bressan, Ch. 2 Ex. 36] Let
e1 = (1,0,0,0,0,...), es=(0,1,0,0,0,...), e3=(0,0,1,0,0,...), ...,
Show that,

in £', (ey,ea,e3,...) does not have any weakly convergent subsequence.
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23.7 Absolute values and valuations

1. (absolute values and norms) [from Pete Clark, lecture notes on valuation theory] Let F be a
field. A norm on F is a function | |: F — R>q such that

(a) if x € F then |z| = 0 if and only if z =0,
(b) if 2,y € F then |zy| = |2[lyl,
(c) if x,y € F then |z + y| < |z| + |y|.

An absolute value on F is a function | |: F — R>q such that

(a) if z € F then |z| = 0 if and only if z = 0,
(b) if #,y € F then |ay| = [xy],
(c¢) There exists C' € R-¢ such that if x € F and |z| < 1 then |z + 1| < C.

Show that this last condition is equivalent to
if v,y € F then |z+y|<Cmax{|z|,|y|}.

Show that C' > 1. A non-Archimedean absolute value is an absolute value on F such that C' = 1.
Show that an absolute value on F is a norm on F if and only if C' < 2. Show that if | | is an
absolute value on F with constant C' (take the inf to make this unique) and o € R+ then | |*
is an absolute value on F with constant C¢.

2. (valuations are the logs of absolute values) Let (F,| |) be a non-Archimedean normed field. The

valuation ring is
o={zeF||z| <1} m={zelF||z] <1}

is the unique maximal ideal of 0o WHAT IS THE STATEMENT???

3. (valuation rings give valuations) [Atiyah-Macondald, Ch. 5 Ex. 30] Let F be a field. A valuation
ring of F is a subring ring o0 C IF such that

(a) o is an integral domain,
(b) F is the field of fractions of o,
(c) f z€F* thenz €oorz~! €o.

Let 0% = {a € 0 | a is invertible in o}, let

FX
FZO—X, and let val: F* =T

be the quotient map. Define a partial order < on I' by
a<b if ab™! € o.

Show that I" is a totally ordered abelian group and val is a valuation of F with values in T'.

4. (valuations give valuation rings) [Atiyah-Macdonald, Ch. 5 Ex. 31] Let I' be a totally ordered
abelian group. Let F be a field. A wvaluation of F with values in I' is a function

val: F* - T such that
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(a) if z,y € F* then val(xy) = val(x) + val(y),
(b) if z,y € F* then val(z + y) > min{val(x), val(y)},

ARE THESE TWO INEQUALITIES IN THE CORRECT DIRECTION? The wvaluation ring of

val is
o={z eF* | val(z) > 0}.

Show that o is a valuation ring of F.

23.8 Additional sample exam questions

23.8.1 Favourite examples

1. (Definition of the nonnegative real numbers)

(a) Carefully define the nonnegative real numbers Rx>g.

(b) Carefully define the usual addition and multiplication on Rx>g.
(c) Carefully define the usual order on Rx>g.

(d) Carefully define the usual topology Rxo.

Be careful that your definitions are not circular (i.e. be careful that your definitions are not
somehow already using the real numbers to define the real numbers).

2. (Properties of the order on R>)

(a) Prove that if a,b,c € R>p and a < b then a+c<b+c.

(b) Prove that if z,y € R>( then there exists n € Zs( such that y < nz.

(c) Prove that if a,b € R>p and a < b then there exists ¢ € Q>¢ (a rational number) such that
a<c<b.

(d) Prove that if a,b € R>g and a < b then there exists ¢ € (R>0—Q>¢) (an irrational number)
such that a < ¢ < b.

3. (Least upper bounds and increasing sequences in R>g)

(a) Prove that if A C R>g and A # () and A is bounded then sup(A) exists.
(b) Give an example (with proof) of an increasing sequence (a1, as,...) in R>g which does not

converge.

(c) Give an example (with proof) of a bounded sequence (ay,ag,...) in R>¢ which does not
converge.

(d) Prove that if (a1, ag, ...) is an increasing and bounded sequence in R>¢ then (ai, az, as, .. .)
converges.

(e) Give an example (with proof) of an increasing and bounded sequence (a1, az,...) in Q>
which does not converge.

4. (Properties of the topology on R>)

(a) Let a,b € R>o with a < b. Prove that (a,b) is open in R>y.
(b) Let a,b € R>¢ with a < b. Prove that [a,b] is closed in R>.
(c¢) Define compact and prove that R>( is not compact.
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5.

6.

(d) Define locally compact and prove that R>q is locally compact.

(Properties of the uniform structure on Rxq)

(a) Carefully define the usual uniformity on Rxg.
(b) Define complete and prove that R>( is complete.

(Connected and compact subsets of R>g) Let A C R>y.

(a) Prove that A is connected if and only if A is an interval.
(b) Prove that A is compact if and only if A is closed and bounded.

7. Assume that it is known that R>( is complete.

10.

11.

12.

13.

14.

(a) Prove that if A C R>p and A # () and A is bounded then sup(A) exists.

(b) Give an example (with proof) of an increasing sequence (ai, as,...) in R>g which does not

converge.

(c) Give an example (with proof) of a bounded sequence (a1, as,...) in R>¢ which does not
converge.

(d) Prove that if (a1, ag, ...) is an increasing and bounded sequence in R>¢ then (ai, az, as, .. .)
converges.

(e) Give an example (with proof) of an increasing and bounded sequence (a1, as,...) in Q>
which does not converge.

. Let X ={0,1} and let 7 = {0, X, {0}}.

(a) Show that T is a topology on X.

(b) Show that there does not exist a metric d: X x X — R>q such that 7 is the metric space
topology of (X, d).

. Define the standard metric on C and show that C, with this metric, is a metric space.

Let d be the standard metric on C. Show that R is a metric subspace of (C, d).

Define the standard metric on R™ and show that R"™, with this metric, is a metric space.
Define the standard norm on R™ and show that R™, with this norm, is a normed vector space.
Define the norm || ||, on R™ and show that (R™,|| ||,) is a normed vector space.

Let X be a nonempty set. Define the set of bounded functions B(X,R) and the sup norm on
B(X,R). Show that B(X,R), with this norm, is a normed vector space.
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15. Let a,b € R with a < b. Define the set of continuous functions C([a, b], R) and the L'-norm on

C([a,b],R). Show that C([a,b],R), with this norm, is a normed vector space.

16. Let a,b € R with a < b. Show that the set Cpq([a,b]),R) of bounded continuous functions is a

metric subspace of C([a, b],R) with the L!'-norm.

17. Let (X,d) and (Y,d’) be metric spaces and let Cp(X,Y) be the set of bounded continuous

functions f: X — Y with the metric p: Cp(X,Y) x Cp(X,Y) — R>q given by

p(f.9) =sup{d'(f(z),9(z)) | z € X}.

Show that if (Y,d’) is complete then (Cy(X,Y), p) is a complete metric space.

18. Let (X,d) and (Y,d') be metric spaces and let Cp(X,Y) be the set of bounded continuous

functions f: X — Y with the metric p: Cp(X,Y) x Cp(X,Y) — R>( given by

p(f,g9) = sup{d'(f(z),g(x)) | z € X}.

Show that (Cy(X,Y), p) is a metric space.

19. We can define d on (1,00) C R by
1 1

aaw—{b@_¢?

(a) Explain briefly why d is a metric on (1, 00)

(b) Show that the mapping ¢ : (1,00) — (0,1) defined by ¢(z) = =

if z #y,
if x =y.

metric space ((1,00),d) to (0,1) with the usual Euclidean metric.

(c) Is the metric space ((1,00),d) connected?
(d) Is the metric space ((1,00),d) compact?
Give brief explanations.

20. Let p € R and define ¢ € R>; by % + % =1.

(a) Define the normed vector space ¢P.
(b) Show that ¢ is a Banach space.
(c) Prove that the dual of ¢ is (9.

21. Let p € R>y and define
P ={(x1,22,...) | z; € R and ||Z], < oo},

for a sequence ¥ = (z1,z2,...) € R®.

(a) Show that if p < ¢ then ¢ C ¢9.
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22.

23.

24.

25.

26.

27.

(b) Show that if p # ¢ then P # (4.

Let p € Ro;. Let ¢; = (0,0,...,0,1,0,0,...) with 1 in the ith entry. Show that {e1,eq,e3,...}
is a Schauder basis of /P.

Check if the following functions are metrics on X.
(a) d(z,y) = [2* —y?| for z,y € X =R

(b) d((L’,y) = ‘:1’2 - y2’ for T,y € X = (—O0,0]

(¢) d(z,y) = |arctanx — arctany| for z,y € X =R

(French railroad metric) Let X = R? and let d be the usual metric. Denote by 0 = (0,0)
and define
0, if x =vy;

d(z,0) +d(0,y), ifz#y.
Verify that dy is a metric on X. (Paris is at the origin 0.)

d()(CC,y) = {

Let X = R2. For x = (21, 22) and y = (y1,y2) define

1/2 if 1 =41 and x9 # yo or if z1 # y1 and x9 = yo;

d(z,y) =11 if 21 # y1 and 9 # yo;
0 otherwise.

Verify that d is a metric and that two congruent rectangles, one with base parallel to the x-axis
and the other at 45° to the x-axis, have different “area” if d is used to measure the length of
sides.

Let (X,d) be a metric space. Consider the function f : [0,00) — [0,00) having the following
properties:

(a) f is non-decreasing, i.e. f(a) < f(b) if 0 < a < b;
(b) f(z) =0if and only if z = 0;
(c) fla+b) < f(a)+ f(b), a;b € [0,00).
If ,y € X define d¢(x,y) = f(d(z,y)). Show that d; is a metric and that the functions f(t) = kt

where k£ > 0, f(t) =t* where 0 < a <1, and f(t) = %th for t > 0 have properties (a)—(c).

(p-adic metric) Let p be a prime number. Define the p-adic absolute value function | |, on Q
by setting |z|, = 0 when = 0 and |z|, = p~* when z = p* - ~r where m, n are nonzero integers
which are not divisible by p. Show that for z,y € Q,

|+ ylp < max{|z]p, ylp}

and that d(z,y) = |z — y|, defines a metric on Q. In fact, d(z,z) < max{d(z,y),d(y,z)}.
If d satisfies this condition which is stronger than the triangle inequality then d is called an
ultrametric.
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28. Sketch the open ball B(0,1) in the metric space (R3, d;), where d; is defined by

di(z,y) = |v1 — 1| + |22 — yo| + |23 — y3]

da(z,y) = /(21 — y1)2 + (22 — y2)® + (v3 — y3)?
doo(,y) = max{|z1 — y1|, [x2 — yol, |23 — y3]}.

for = (21,2, 23) and y = (y1,y2,y3) € R®.

29. Set

for n,m € Z~¢. Then d is a metric.

(a) Let P C Zs¢ be the set of positive even numbers. Find diam(P) and diam(Zs¢ \ P) in
<Z>0, d) .
(b) For a fixed n € Zsg find all elements of B(2n, 5-) and B(n, 5 ).

30. Let X = R2. For x = (z1,72) and y = (y1,%2) € X define

dM(ZC y): ’:Eg—yg’, ifl’lzyl,
’ |21 = yi| + |zo| + |yl if 21 # y1.

Also define
lz —yll if x = ty for some t € R;
dK(xa ) = .
llz]| + [yl otherwise.
where |z|| = (270, x?)l/ ?, (Can you give reasonable interpretations of the metrics dy; and
dg?)

Study the convergence of the sequence x,, in the spaces (X, dys) and (X, dg) if

23.8.2 Open, closed, dense and nowhere dense sets

1. Give two metrics d and d’ on R such that Q is open in the metric space topology on (R, d) and
Q is not open in the metric space topology on (R, d’).

2. In R with the usual topology give an example of

(a) aset A C R which is both open and closed,
(b) aset B C R which is open and not closed,

(c¢) aset C C R which is closed and not open,

(d) aset D C R which is not open and not closed.
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3. Let X = R with the usual topology. Show that

(a) [0,1) C R is not open and not closed,
(b) @ C R is not open and not closed.

4. Consider the set X = [—1,1] as a metric subspace of R with the standard metric. Let

(a) A={reX|1/2<|z] <2}
(b) B={xe X |1/2<|z| <2}
() C={zeR|1/2<|z| <1}
(d;

(e
Classify the sets in (a)—(e) as open/closed in X and R.

D={seR|1/2< s <1}
E={reR|0<|z|<1and 1/z &€ Z}.

5. Consider R? with the standard metric. Let

(a) A={(z,y)| 1<z <land —1<y<1}
(b) B ={(z,y)|zy = 0};

() C={(z,y)lreQuyeR}

(d) D=A{(z,y)|—1<z<landy =0}

() E=UZi{(z,y)le=1/nandy| <n}.

Sketch (if possible) and classify the sets in (a)—(e) as open/closed/neither in R2.

6. Find the interior, the closure and the boundary of each of the following subsets of R? with the
standard metric:

() A={(z,9))|2>0andy 0}
(b) B:{(:c y)|x€Z>0,y€R}
(¢c) C=AUB

(d) D ={(z, y) | z is rational};

() F={(z,y)|z#0andy <1/zx}.

7. Let X = R with the usual topology.

(a) Determine (with proof) ([0, 1]).
(b) Determine 0Q (with proof, of course).

8. Let X = R with the usual topology. Show that

(a) Z=o is a discrete set in R.
(b) { | n€Zso} CRis a discrete set in R.

9. Let X = R with the usual topology.
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) Show that Q is dense in R.

) Show that Q° is dense in R.

) Show that Z-¢ is nowhere dense in R.
) Show that Z is nowhere dense in R.

) Show that R is nowhere dense in R?.

10. Let C be the Cantor set in R, where R has the usual topology.

) Show that C'is closed in R.

) Show that C' does not contain any interval in R.
) Show that C' has nonempty interior.

) Show that C' is nowhere dense in R.

(a
(b
(c
(d

11. Let C be the Cantor set and let Q@ = {x € Q | 0 < = < 1}. Let C and @ have the subspace
topology of the interval X = [0,1] = {x € R | 0 < 2 < 1} in R, where R has the standard
topology.

(a) Show that C is closed in X and not open in X, and @ is not closed in X and @ is not open
in X.
) Show that C'is nowhere dense in X and @ is dense in X.
(c) Show that C¢ is dense in X and Q€ is dense in X.
(d) Show that C' is compact and @ is not compact.
)

Show that C' and @ are both totally disconnected (i.e. every connected component is a set
with a single point).

(e) Let p be a function which assigns values to certain subsets of X which satisfies

pu(la, b)) =b—a, ifa,becRand0<a<b<l,

and
,u( U Ai) = Z w(A;) if Aq, Ao, ... are disjoint subsets of X .

1€Z>0 1€Z~>0
Show that
w(C)=0, pu(C)=1, p@ =0, and Q") =1

(f) Show that Card(C) = Card(R), Card(C°) = Card(R), Card(Q) # Card(R) and Card(Q°) =
Card(R).

12. Let X = R with the usual metric and let U = Q and V = Q°. Show that U and V are dense
and UN B = ().

13. Let X = Q with the usual metric and let Q = {q1,¢2,¢3,...} be an enumeration of Q. For
n € Zso let Q, =Q —{qn}-

(a) Show that if n € Z~¢ then @, is open and dense.
(b) Show that (] Qn =0

n€Zlx>o
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14.

15.

16.

17.

(Ch 3 Neighborhoods etc) Show that R, with the standard topology, cannot be be written as a
countable union of nowhere dense sets.

Let X = Q, with the standard topology. Let Q = {¢1,¢2,...} be an enumeration of Q. Show

that {¢,} is nowhere dense. Determine the interior of U {gn}-
n€Z>0

Let (X, d) be a complete metric space and let (f1, f2, f3,...) be a sequence of continuous functions
fn: X = R, for n € Z~o.

Assume that if x € X then (fi(x), fa(x),...) is bounded in X. Show that there exists an open
set U C X such that

there exists M € Ry such that if x € U and n € Zsg then |f,(x)| < M.

Let X be a complete normed vector space over R. A sphere in X is a set
S(a,r)={z € X :d(z,a) = ||x — a|| =}, for a € X and r € Ry.

(a) Show that each sphere in X is nowhere dense.

(b) Show that there is no sequence of spheres {S,,} in X whose union is X.

(c) Give a geometric interpretation of the result in (b) when X = R? with the Euclidean norm.
(d) Show that the result of (b) does not hold in every complete metric space X.

23.8.3 Continuity

Let X be a topological space and let f: X — R and g: X — R be continuous functions.

) Show that f + g is continuous.

) Show that f - g is continuous.

) Show that f — g is continuous.

d) Show that if ¢ satisfies if x € X then g(x) #0 then f/g is continuous.

a
b
a

(
(
(
(

. Let (X,d) be a metric space. Show that d: X x X — R is continuous.

. Let f: R xR — R be given by

s i (z,y) #(0,0),
x,y) =4 &Y
fe.y) {0, if (z,) = (0,0).

If a € Rlet ¢,: R — R be given by 4,(y) = f(a,y). If b € R let 7,: R — R be given by
ro(z) = f(x,b).

(a) Let a € R. Show that ¢,: R — R is continuous.
(b) Let b € R. Show that 7,: R — R is continuous.
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4.

5.

6.

10.

(c) Show that f is not continuous at (0, 0).

Show that the function f: R — R given by f(z) = —%5 is uniformly continuous.

1+

Show that the function f: R — R given by f(z) = 22, is not uniformly continuous.

Let X and Y be topological spaces and assume that Y is Hausdorff. Let f: X — Y and
g: X — Y be continuous functions.

(a) Show that the set {x € X | f(z) = g(x)} is a closed subset of X.
(b) Show that if f: X — R and ¢g: X — R are continuous then

f — g is continuous.

(c) Show that if f: X — R and ¢g: X — R are continuous then

{re X | f(z) <g(x)} isopen.

Let C be the circle in R? with the centre at (0,1/2) and radius 1/2. Let X = C'\ {(0,1)}. Define
the function f: R — X by defining f(¢) to be the point at which the line segment from (¢,0) to
(0,1) intersects X.

(a) Show that f: R — X and f~!: X — R are continuous.
(b) Define for s,t € R

p(s,t) = [f(s) = f(1)]

where | | is the standard norm in R2. Show that p defines a metric on R which is topologically
equivalent to the standard metric on R.

. Let X = C[0,1]. Let F: X — R be defined by F(f) = f(0). Moreover, let do(f,g) =

sup{|f(x) — g(«)| | = € [0,1]} and di(f, 9) = [y |/ (x) - g(x)|da.
Is F' continuous when X is equipped with (a) the metrlc doo, (b) the metric d;?

Which of the following functions are uniformly continuous?

mm on [0, 00)
n (0,1)

\/Eon [0, 00)
sin(1/x), on (0,1)

X

fz) =
g9(x) =
h(z) =
k(z) =
Suppose that A is a dense subset of a metric space (X, d) and f: A — R is uniformly continuous.

Show that there exists exactly one continuous function g: X — R satisfying g(z) = f(z) for
z € A. (Hint: You may need to use the completeness of R.)
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11.

12.

13.

14.

15.

Let S' = {(z,y) € R? | 22 + 42 = 1} be the unit circle in R?, and let f : S' — R be a continuous
function. Show that there exists # € S! such that f(x) = f(—z). (Hint: consider the function
g: St — R where g(z) = f(x) — f(—x).)

(Functions on Rx>g)

(a) Carefully define continuous and uniformly continuous functions.

(a) Let n € Zs¢. Prove that the function z™: R>¢ — R>¢ is continuous.

(b) Let n € Z~;. Prove that the function z™: R>9 — R>¢ is not uniformly continuous.
(b) Let n € {0,1}. Prove that the function 2™: R>¢ — R>¢ is uniformly continuous.

)

(c) Prove that the function e”: R>¢p — Rx>g is continuous.

Let X be a connected topological space. Let f: X — R be continuous with f(X) C Q. Show
that f is a constant function.

Let X =[0,27) and Y = S' = {(z,y) € R? | 22 + y?> = 1}. Let
f:0,27) — S* be given by f(z) = (cosz,sinx).

(a) Show that f is continuous.

(b) Show that f is a bijection.

(c) Show that f~!: S' — [0,2m) is not continuous.

d) Why does this not contradict the following statement: Let X and Y be topological spaces
and let f: X =Y be a continuous function. Assume f is a bijection, X is compact and 'Y
is Hausdorff. Then the inverse function f~':Y — X is continuous.

Let X = R>g with metric given by d(z,y) = |z — y|. Show that the function

RZO X RZO — Rzo

is uniformly continuous
(z,y) = x+y

and the function

RZOXRZO — RZO

is continuous but not uniformly continuous.
(z,y) = ay

23.8.4 Sequences of functions

3.

. Let (X,d) and (Y,p) be metric spaces. Let {fx} be a sequence of functions fx: X — Y

and let f: X — Y be a function. Show that {fx} converges uniformly to f if and only if
sup{p(fr(2), f(x)) | z € X} = 0.

. Let {fx} be a sequence of continuous functions from a metric space (X, d) to a metric space (Y, p).

Suppose that {fx} converges uniformly to f: X — Y. Show that f: X — Y is continuous.

Which of the following sequences of functions converge uniformly on the interval [0, 1]?
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9.

(2) fulz) = na®(1— )"
(b) fule) =n’a(l —a2)"
(©) falw) = n2den

. Let {fx} be a sequence of linear maps fi: R™ — R which are not identically zero, that is, for

every k € Z~g there is © = x such that fx(x) # 0. Show that there is 2 (not depending on k)
such that fi(x) # 0 for all k € Z~o.

. Let {fn} be a sequence of continuous functions f,: R — R having the property that {f,(x)} is

unbounded for all z € Q. Prove that there is at least one z € Q¢ such that { f,,(x)} is unbounded.

. Let (X, d) be a complete metric space and let (Y, d) be a metric space. Let {f,} be a sequence

of continuous functions from X to Y such that {f,(z)} converges for every z € X. Prove
that for every € > 0 there exist k € Zso and a non-empty open subset U of X such that
d(fn(x), fm(z)) <efor all x € U and all n,m > k.

(a) Let (X, d) be a metric space and let (f,,) be a sequence of continuous functions, f, : X — R,
for n € Z~q. Define what it means for the sequence f,, to converge uniformly to f : X — R.
(a) (b)] Suppose that (fy,) is a sequence of continuous functions, f, : [0,1] — R. Assume that
(fn) converges uniformly to f : [0,1] — R. Prove that f(;c fn(t)dt converges uniformly to
Jo f()dt, where 0 <z < 1.
n

(c) Let fu(z) = I_F;CW

interval [0, 1]7 Give a brief justification of your answer.

for x € [0,1]. Is the sequence (f,) uniformly convergent on the

. Let X = C[0, 1] be the set of all continuous functions f : [0,1] — R. Recall that the supremum

metric on X is defined by

doo(f, 9) = sup{|f(z) —g(x)] : 0 <@ <1}

and the L' metric on X is defined by

1
d(f.9) = /O (@) — o(x)| da.

Consider the sequence {fi, f2, f3,...} in X where f,(z) =nz™(1 —z) for 0 <z < 1.

(a) Determine whether {f,} converges in (X,d;).
(b) Determine whether {f,,} converges in (X, d).

(You may use any standard results about limits of real sequences.)
(a) Let (X, d) be a metric space and let { f,,} be a sequence of continuous functions, f, : X — R,
for n € Z~¢. Give the definition of uniform convergence of the sequence f,, to a function

f: X—=>R
(b) Prove that if {f,} converges uniformly to f : X — R, then f is a continuous function.
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1 _ n
(c) Let fu(x) = T xn for z € [0,1] and n € Z~¢. Find the pointwise limit f of the sequence
x

{fn}. Determine whether the sequence f,, is uniformly convergent to f or not on the interval
[0,1]. Give brief reasons for your answer.
(d) Is the sequence (f,) uniformly convergent on the interval [0, 1]?

10. Let (X, dx) and (Y, dy) be metric spaces, and let (f1, f2,...) be a sequence of functions: f,: X —
Y for n € Z~y.

(a) Define what it means for the sequence (f1, f2...) to converge uniformly to a function f :
X =Y.

(b) Define what it means for a function g: X — Y to be bounded.

(c) Prove that if each f, is bounded and (f1, fa,...) converges uniformly to f, then f is also
bounded.

(d) Define f, : [0,1] — R for each n € Z~¢ by

nx2

T 1+nz

fn(z) for z € [0, 1].

Find the pointwise limit f of the sequence (f1, fo,...) and determine whether the sequence
converges uniformly to f.

23.8.5 Compactness and completeness

1. Show that the completion of (0,1) with the usual metric is [0, 1] with the usual metric.

2. Decide if the following metric spaces are complete:

(a) ((0,00),d), where d(z,y) = |2? — 42| for z,y € (0, c0).
(b) ((=m/2,7/2),d), where d(z,y) = |tanx — tany| for z,y € (—7/2,7/2).

3. On R consider the metrics:
dy(z,y) = | arctan x — arctan y|,
dy(z,y) = [2° —¢*|.

With which of these metrics is R complete? If (R, d;) is not complete find its completion.

4. Which of the following subsets of R and R? are compact? (R and R? are considered with the
usual metrics).

(a) A=QnJ0,1]

(b) B={(z,y) e R?: 2? + 4> =1}

(c) C={(z,y) e R?: 2% +¢y? < 1}}

(&) D ={(w,p) s o] + |yl < 1}

(e) E={(z,y):z>1land 0 <y <1/z}

5. Consider the following spaces:
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(a) R with the metric di(z,y) = M;
(b) R with the metric da(z,y) = | arctan x — arctan y|;
(¢) R with the metric d3(z,y) =0if x =y and d(z,y) =1 if v # y.

Is (R, d;) compact?

6. Consider C[0,1] with the usual ds metric. Let
A={f€C0,1]]0=(0) < f(t) < f(1) = 1 for all £ € [0,1]}.

Show that there is no finite %—net for A.

7. Let X = (0,1] be equipped with the usual metric d(z,y) = | — y|. Show that (X,d) is not
- 1 1 .
complete. Let d(x,y) = ||[— — —|| for z,y € X. Show that d is a metric on X that is equivalent
r y

to d, and that (X, d) is complete.

8. Which of the following maps are contractions?

(a) f R R, f(z) = e
(b) [ [0700) - [0700)7 f(x) =e "
(c) f:[0,00) = [0,00), f(x) = e
(d) f:R—=R, f(x) = cosz;

(e) f:R—=R, f(x) = cos(cos x)

9. Consider the map f : R? — R? given by

1
f(@y) = 158z + 8y, +y), (z,y) € R
Recall metrics di((z1,91), (z2,92)) = |21 — 22| + |y1 — y2|, do((21,91), (T2, 92)) = [|v1 — 22|* +
ly1 — y2|2]1/2 and doo((x1,y1), (x2,¥y2)) = max{|x1 — x2],|y1 — y2|}. Is f a contraction with re-
spect to d17 do? duo?

10. (a) Consider X = (0,a] with the usual metric and f(z) = 22 for z € X. Find values of a for
which f is a contraction and show that f: X — X does not have a fixed point.
(b) Consider X = [1,00) with the usual metric and let f(z) = z + X for € X. Show that
f:X — X and d(f(x), f(y)) < d(z,y) for all z # y, but f does not have a fixed point.
Reconcile (a) and (b) with Banach fixed point theorem.

11. (a) State the Banach fixed point theorem.
A mapping f : R — R is defined as a contraction if there exists a constant ¢ with 0 < c¢ < 1
such that |f(z) — f(y)| < c|z —y| for all z,y € R.
(b) (1) Use (a) to show that the equation x + f(x) = a has a unique solution for each a € R.
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(2) Deduce that F': R — R defined by F(x) = = + f(x) is a bijection. (This should be

easy).
(3) Show that F' is continuous.
(4) Show that F'~! is continuous. (Hence F' is a homeomorphism.)

12. Consider the map f: R? — R? given by

f(z,y) = 82+ 8y,z + ).

Recall metrics

dl((xl,yl); (5U2,y2) = \96'1 - 362’ + |y1 - y2|7
dao((z1, 1), (@2, 92) = (|21 — 22|? + g1 — 1)V,
doo((71,91), (22, y2) = max{|z1 — 22|, [y1 — y2l}

If f a contraction with respect to d1? do? doo? Prove that your answers are correct.

13. Let a € Ryg. Let

14.

15.

(c)

1
f(x):2<a:+i>, for z € Ryg.

Show that if € Rvg then f(z) > y/a. Hence f defines a function f : X — X where
X = [Va, ).

Show that f is a contraction mapping when X is given the usual metric.

Fix z¢g > v/a and z,11 = f(2,), for n € Z>p. Show that the sequence {z,} converges and
find its limit with respect to the usual metric on R.

State the Banach fixed point theorem.

Verify that the mapping

r+y+1 z—y+1
4 ’ 4 )

satisfies the conditions of the Banach fixed point theorem on the metric space (B(0,1),d),

where d is the usual Euclidean metric and B(0, 1) is the closed unit ball in R? centred at

the origin 0.

Find directly the unique fixed point for f.

fz,y) = (

State the Banach fixed point theorem.
Let X = {(x,y) € R? | 22 + 42 < 1}.
Verify that the mapping f: X — X given by

flay)=(G@+y+1), 3@ —y+1)

satisfies the conditions of the Banach fixed point theorem.
Find directly the unique fixed point for f.
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16. (a) Show that there is exactly one continuous function f : [0, 1] — R which satisfies the equation

(f(a:))3 - ex(f(a:))2 + f(;) =e”.

(Hint: rewrite the equation as f(z) = e* 4+ % (%) )
(b) Consider C[0,a] with a < 1 and T": C|0,a] — C]0, a] given by

(Tf)t) = sint—i—/o f(s)ds, t € [0,a].

Show that T is a contraction. What is the fixed point of T'7
(c) Find all f € C[0, 7] which satisfy the equation

3f(t) = /0 sin(t — s) f(s)ds.

(d) Let g € C[0,1]. Show that there exists exactly one f € C[0, 1] which solves the equation

f(z)+ /01 eV f(y)dy = g(x), for all x € [0,1].

(Hint: Consider the metric d(f, h) = sup{e™*|f(z) — h(z)| | x € [0,1]}.)

17. Let o € R with 0 < a < 1. Let X be a complete metric space and let f: X — X be a
a-contraction. Let x € X, xp =z and zp,11 = f(xy,), for n € Z>.

(a) Show that the sequence zg, 1, x2,... converges in X.
Let p = lim x,.
n—oo
d
(b) Show that d(z,p) < M

(c) Show that f(p) = p.

18. Let U be an open subset of R2. Let f: U — R be a continuous function which satisfies the
Lipschitz condition with respect to the second variable: There exists a € R~ such that

if (z,y1), (x,y2) €U then |[f(z,y1) — f(z,92)] < alyr — vl

Show that if (zo,y0) € U then there exists ¢ € Ry such that y'(z) = f(x,y(z)) has a unique
solution y: [zg — 0,z + 6] — R such that y(zg) = yo.

19. Let S be the set of linear combinations of step functions f: R¥ — R. Let

e / I and  d(fg) = f — gl

for f,g € S.

(a) Show that || ||: S — Rx>¢ is not a norm on S.
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20.

21.

22.

23.

24.

25.

26.

(b) Show that d: S x § — R> is not a metric on S.

Let S be the set of linear combinations of step functions f: R¥ — R. Let Zi€Z>o fi be a series
in S which is norm absolutely convergent. Show that there exists a full set in R¥ on which
ZieZ>0 fi converges.

Let S be the set of linear combinations of step functions f: R¥ — R. Let Znez>0 fr be a series
in S which is norm absolutely convergent. Show that Zn€Z>O frn = 0 almost everywhere if and
only if the limit of the norms of the partial sums of f,, converge to 0.

Let L' be the set of functions which are equal almost everywhere to limits of norm absolutely
convergent series in S, where S is the set of linear combinations of step functions f: R¥ — R.
Define

HfH:/f end  d(f.g)=|f—gl. for fge L.

(a) Show that || ||: L' — R>¢ is a norm on L.
(b) Show that d: L' x L' — Rsq is a metric on L*.

Let I be a closed and bounded interval in R. Let x1,x2,23,... be a sequence in I. Show that
there exists a subsequence x,, Tp,, Tps, ... of £1,x2,x3,... such that x,,, xn,, Tns, ... converges
in I.

Let X = R with metric given by d(z,y) = |z — y|.

(a) Let A= X. Show that A is Cauchy compact but not bounded.

(b) Let A= X. Show that A is Cauchy compact but not cover compact.

(c) Let A = X. Show that A is Cauchy compact but not ball compact.

(d) Let A= (0,1) € X. Show that A is ball compact and not closed in X.

(e) Let A= (0,1) C X. Show that A is ball compact and not cover compact.

(f) Let A= (0,1) C X. Show that A is ball compact and not Cauchy compact.

(h) Let A = (0,1) € X and let B = A. Show that B is closed in A but B is not Cauchy

compact.
(g) Let Y = R with metric given by p(z,y) = min{|z — y|,1} and let A =Y. Show that A is
bounded but not ball compact.

Let (0,1) = {xr € R | 0 < z < 1} with the standard metric. Show that X is not complete, is
totally bounded and is not cover compact.

Let C([0,1],R) = {f: [0,1] — R | f is continuous} and let d(f, g) = sup{|f(x)—g(z)| | = € [0, 1]}.

(a) Show that d: C(]0,1],R) x C([0,1],R) is a metric on C([0,1,R).
(b) Let A= B1(0) = {f € C([0,1],R)] | d(f,0) < 1}. Show that A is closed and bounded.
(c) Show that A is not compact.
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27.

28.

29.

30.

31.

Let K C R. Show that K is compact if and only if K is closed and bounded.

Let X be a compact metric space. Let f: X — R be a continuous function. Show that f attains
a maximum and a minimum value.
Let f: X — R. The function f is upper semicontinuous if f satisfies
ifreR then {ze€ X | f(x)<r}isopen.
The function f is lower semicontinuous if f satisfies
ifr e R then {xe€ X | f(x)>r}is open.
Assume that X is compact. Show that every upper semicontinuous function assumes a maximum
value and every lower semicontinuous function assumes a minimum value.
Let X = R with metric given by d(z,y) = min{|z — y|,1}.

(a) Show that X is bounded.
(b) Show that X is not totally bounded.

Let X =[0,27) and Y = S' = {(z,y) € R? | 2% + y?> = 1}. Let
f:[0,27) — St be given by f(x) = (cosx,sinx).

(a) Show that f is continuous.
(b) Show that f is a bijection.
(c) Show that f=!: S' — [0, 27) is not continuous.

23.8.6 Connectedness

. Let X; and X5 be the subspaces of R given by X; = R — {0} and X2 = Q. Show that X; and

Xs are disconnected.

. Let A = (—00,0) and B = (0,00) as subsets of R. Show that A is connected, B is connected

and A U B is not connected.

. Show that a subset of R is connected if and only if it is an interval.

. Carefully state the Intermediate Value Theorem.

. State and prove the Intermediate Value Theorem.
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10.

11.

12.

13.

14.

15.

16.

. Let X be a connected topological space and let f: X — R be a continuous function. Show that

if z,y € X and r € R such that f(z) <r < f(y) then there exists ¢ € X such that f(c) =r.

Let X = {(¢,sin(nt)) | t € (0,2]}.

(a) Let p: R? — R be given by ¢(x,y) = x. Show that ¢: X — (0,2] is a homeomorphism.
(b) Show that X is connected.

(c) Show that X is connected.

(d) Show that X is not path connected.

bigskip

. Which of the following sets X are connected in R??

(a) Let H = {(x,y) € R? |zy =1 and z,y > 0}, L = {(x,0) |z € R}, and X = H U L;

(b) Let Cp, = {(z,y) € R? | (z —1/n)2 +y? =1/n?} forn € Z, and X = Unez-o Cn-

. Show that no two of the intervals (a,b), (a,b], and [a, b] are homeomorphic.

Show that R and R? are not homeomorphic (where R and R? are equipped with the usual
topologies).

Let A= {(z,y) e R? : 22 +¢y* < 1} and B = {(z,y) € ]IEQ S —2)2 +y? < 1}
Determine whether X = AUB,Y = AUB and Z = AU B are connected subsets of R? with
the usual topology.

Let X be a connected topological space and let f : X — R be a continuous function, where R
has the usual topology. Show that if f takes only rational values, i.e. f(X) C Q, then f is a
constant function.

Show that X = {(x,y) € R? : xy = 0} is not homeomorphic to R (with the usual topologies).
[Hint: consider the effect of removing points from X and R.]

Let A= {(z,y) e R? : 22 + % < 1} and B = {(z,y) € ]32 (-2 +y? < 1}
Determine whether X = AUB,Y = AUB and Z = AU B are connected subsets of R? with
the usual topology.

Let X be a connected topological space and let f : X — R be a continuous function, where R
has the usual topology. Show that if f takes only rational values, i.e. f(X) C Q, then f is a
constant function.

Explain why the following pairs of topological spaces are not homeomorphic. (Each has the
topology induced from the usual embedding into a Euclidean space).
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(a) R and S!, where S! is the unit circle {(z,y) : 22 +3? = 1}.
(b) (0,00) and (0, 1].
(¢) A={(0,y):y e R}U{(z,0): z € R}, B={(0,y) :y € R,y >0} U{(,0) : z € R}.

17. Prove that no two of the following spaces are homeomorphic:

(i) X =[-1,1] with the topology induced from R;
(i) Y ={(x,y) € R? | 2% +y? < 1} with the topology induced from R?;
Z = {(x,y) € R? | 22 + y? < 1} with the topology induced from R2.

18. Show that X = {(x,y) € R? | 2y = 0} is not homeomorphic to R.

19. Let

A={(z,y) eR*: 2® + 4% < 1} and
B={(z,y) eR?: (z —2)>+¢% <1}

Determine, with proof, whether X = AUB,Y = AUB and Z = AU B are connected subsets
of R? with the usual topology.

20. Show that Q, with the standard topology, is totally disconnected (i.e. each connected component
contains only one point).

21. (a) Let (X,dx) and (Y, dy) be a metric spaces and let f: X — Y be a function. Let £ C X.
Prove that if f: X — Y is continuous and FE is connected then f(FE) is connected.
(b) Carefully state the intermediate value theorem.
(¢) Prove the intermediate value theorem.
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